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= woc 17.0 17.0 18.0 18.0
K R’ C 10.0 12.0 12.0 12.0
7% % 1 #| mg/o 0.22 0.22 0.24 0.48
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Wt w4 A | me 6.0 56.1 45.5 2.6
HHE (B AHRE (TOC) DR) | mg/o <0.3 <0.3 <0.3 <0.3
p H il  pH 6.8 6.9 6.9 7.4
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@ | <1 <1 <1 <1
% I <0.05 <0.05 <0.05 <0.05
ST ACBYAT L RO T mg/0 <0.001 <0.001 <0.001 <0.001
i % | me/o <0.06 <0.06 <0.06 <0.06
7 o o i | mg/o <0.002 <0.002 <0.002 <0.002
y . w & & b mghe <0.0001 <0.0001 <0.0001 0.0001
Y s v v % meg/ <0.002 <0.002 <0.002 <0.002
vy 7w suant4 ] me/e 0.0002 0.0001 0.0002 <0.0001
5 % | me/o <0.001 <0.001 <0.001 <0.001
“w F U o~ B A 4 | me 0.0004 0.0005 0.0007 0.0002
b U 7 o oo B m me/e <0.002 <0.002 <0.002 <0.002
7w E vy suon A4y meg 0.0001 <0.0001 <0.0001 0.0001
7 @ = & A b mghe 0.0001 0.0004 0.0005 <0.0001
x L A 7 A F b KN mgl <0.008 <0.008 <0.008 <0.008
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Ay L, = vy nsE ()| mg/o 227.0 211.0
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K W C 10.0 12.5 11.0 11.0 11.0 11.0
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PN 1 MPN/100ml 0.0 0.0 0.0 0.0 0.0 0.0
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= woc 16.0 18.0 18.0 18.0 18.0
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